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(O = HINTS AND HOMEWORK
forExs. 13, 23, and 47 at ¢

g "SKILLS + PROBLEM SOLVING - REASONING

7.3 EXERCISES HOMEW?(:$§ &= i CHOICE PRA

1. VOCABULARY Give an example of a linear system in two variables that
can be solved by first adding the equations to eliminate one variable.

2. WRITING Explain how to solve 2x-y=2 Equation 1
‘ th_e l{nea_r system shown using the 2x+3y=22 Equation2
elimination method.

: EXAMPLE 1 USING ADDITION Solve the linear system using elimination.

é?onrz-x::g;—ﬂ 3. x+2y=13 4. 9x+y=2 5. 3x—y=8
: ' =%+ ) =15 —4x—-y=-17 x+y=-12

6. 3x—y=30 ' 7. —9x + 4y = 17 8. 3x—5y= -7
—3x+7y=6 9x —6y=3 —4x + 5y =14
| 9. 2x+5y=31 . 10. —4x — 8y = —16 11. 3x +y =10

—2x+y= -1 6x + 8y = —8 —3x — 4y =23

: EXAMPLE 2 USING SUBTRACTION Solve the linear system using elimination.

onp 39 2 .........

: = 12. x+y=1 @x—y=—4 . 4. 2x—y =7
: for Exs. 12-21 2x+y=4 x+3y=4 2x + 7y =31

15. 6x +y= —10 16. 5x + 6y = 50 17, 4x — 9y = -21

5c+y=-10 —x + 6y = 26 4x + 3y = -9
18. x + 5y=35 19. 6x —y= -1 20. 4x -7y =39
—2x + 5y = -10 6x — 3y = —27 Ix—-Ty=9

21. 4 MULTIPLE CHOICE What is the solution of the linear system
4x + 9y = —2and 11x + 9y = 262

@ (-2,4) (2, —4) © 4, -2) ® 4,2

: EXAMPLE 3 ARRANGING LIKE TERMS Solve the linear system using elimination.

E?Jlrz;cigzzz—m S AL 2 @ —8y + 6x = 36 24, 2x—y=-11
25. x—y=14 26. 1ly—3x=18 27. —5x+y=—23
S —3x = —16y + 33 —y=38x—9

28, 2x=y—-9 29.8y—1x= =13 30. 8x + 6y = —36
2x—5y=15 = —=3Y=hH 9y = —8x — 66

31. 4 MULTIPLE CHOICE Which system of equations has the solution (3, 1)?

@ 3x=4-y ® 2x+y=6
3x +5y=18 . Jy=14-2x

®© -12y=16-7x : @ 2x+2y=8
5x + 12y = 32 x=5—-2y
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